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a further loss in interest earnings inevitably ensues. In contrast
to this, the genius of the instalment method is, that interest is being
fully earned every day without exception.

Hlustration of Each Method.

Let it be assumed that a municipality proposes to issue bonds
for some important permanent work for say $1,000,000, the loan
to be repaid in 20 years and to carry interest at the rate of 5%,
and the question arises as to which method is most economical and
desirable.

Under the Sinking Fund Method the annual levy for interest
would be $50,000, and for sinking fund (assuming 3% as the sink-
ing fund rate) $37,215.71, a total annual levy of $87,215.71.

Under the Annuity Instalment Method the annual levy
for repayment of principal and interest would be only $80,242.50, or
$6,073.12 per annum less.

The present value of this annual saving for the life-time of
the loan is $86,900.42, and this amount represents the actual saving
to the municipality in issuing Annuity Instalment bonds instead of
Sinking Fund Bonds.

Under the Serial Instalment Method, according to the illustra-
tion assumed, the annual levy would vary from $78,750 to $81,500
per annum, and the saving, therefore, would be practically the same
as in the Annuity Instalment case.

The tables at the foot of this page, No. 1 illustrating the
Annuity Instalment, and No. 2 illustrating the Serial Instalment
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Method of repayment, set forth in detail year by year, the gradual
and systematic liquidation of the loan we have been considering.

It will be observed that the aggregate moneys which the tax
payers would be called upon to pay, during the twenty years, to dis-
charge the $1,000,000 debt, according to the three methods would
be as follows :—

(1) According to Sinking Fund Method .... $1,744,314.20
(2) According to Annuity Instalment Method. 1,604,851.80
(3) According to Serial Instalment Method.. 1,606,250.00

Ef:?t on Debt.

By the Annuity or Serial Instalment Method the amount of
the debt repaid each year is a definite quantity, and the bonds
corresponding thereto are redeemed and cancelled. As a result,

' the net indebtedness of the municipality at any given time can be

determined with accuracy. By the Sinking Fund Method the entire
debt and the bonds representing it remain outstanding until the
end of the period, and, through the Sinking Fund, the debt is then
paid off. The yearly reduction of a debt of any enterprise un-
questionably tends to create a much more favorable impression of
its financial position than a stationary liability of many years’
standing, although there is an increasing asset (the Sinking Fund)

. to offset it.

\ / Both Instalment Methods, which provide for the repayment. of

"\the debt gradually from year to year as the annual taxes are re-

Annuity Instalment, Table No. 1.
Table illustrating the repayment of a loan of $1,000,000, with

interest at 57 per annum, in 20 vears, according to Annuity
Instalment Method.

S e g T
R | Original Loan $1,000,000.00
Ist year..... $80,242.59 $50,000.00 | $30,242.59 969,757.41
2nd year.... 80,242, 59 48,487.87 31,754.72 038,002.69
3rd year.... 80,242,590 46,900. 14 33,342.45 904,660.24
dth year....|  80,242.59 45,233.02 35,009.57 869,650.67
5th year....|  80,242.59 43,482.54 36,760.05 832,890 62
6th year....|  80,242.59 41,644.53 38,598.06 794,292. 56
Tth year...|  80,242.59 39,714.63 40,527.96 753,764.60
8th year.... 80,242.59 37,688.23 42,554.36 711,210.24
Oth year....|  80,242.59 35,560.52 44,682.07 666 528.17
10th year...|  80,242.59 33,326.41 46,916.18 619,611.99
11th year..|  80,242.59 30,980. 60 49,261.99 570,350.00
12th year...|  80,242.59 28,517.50 51,725.09 518,624 91
13th year...|  80,242.59 25,981.25 54,311.34 464,313.57
14th year...|  80,242.59 23,215.68 57,026.91 407,286.66
15th year...|  80,242.59 20,364. 34 59,878.25 347,408.41
16th year‘... 80,212.59 17,370.42 62,872.17 284,536.24
17th year... 80,242.59 14,226.81 66,015.78 218,520.46
18th year...|  80,242.59 10,926.03 69,316.56 149,203,90
19th year...|  80,242.59 7,460.20 72,782.39 76,421.51
20th year...|  80,242.59 3,821.08 76,421.51 | Debt paid off

$1,604,851.80 | $604,851.80 $1,000,000 00

Serial Instalment, Table No. 2.
Table illustrating the repayment of a loan of $1,000,000, with
interest at 5% per annum, in 20 years, according to Serial
Instalment Method.

Bndof |Amnual Payment | PArtusedin paymental | RN Sl

Original Loan $1,000,000
1st year... $81,000 $50,000 $31,000 969,000
2nd year.... 80,450 48,450 32,000 937 000
3rd year.... 79,850 46,850 33,000 904,000
4th year.... 79,200 45,200 34,000 870,000
5th year.... 79,500 43,500 36,000 834,000
6th year .... 79,700 41,700 38,000 796,000
7th year.... 79,800 39,80u 40,000 756,000
8th year .... 79,800 37,800 42,000 714,000
9th year.... 79,700 35,700 44,000 670,000
10th year... 79,500 33,500 46,000 624,000
11th year... 80,200 31,200 49,000 575,000
12th year... 80,750 28,750 52,000 523,000
13th year.. 81,150 26,150 55,000 468,000
14th year.. 81,400 23,400 58,000 410,000
15th year., 81,500 20,500 61,0.0 349,000
16th year.. 81,450 17,450 64,000 285,000
17th year.. 81,250 14,250 67,000 218,000
18th year.. 80,900 10,900 70,000 148,000
19th year.. 80,400 7,400 73,000 75,000
20th year... 78,750 3,750 75,000 | Debt paid off

$1,606.250 o $606,250 $1.000,000




